Solow Model example with Labor Augmenting Technological Growth

Let Y = K1/3(LE)2/3
with s = .25, n = .01, =.1, and g = .015
The production function, because it exhibits CRTS, can be rewritten as 

To find the steady state, recall that Δk = 0, so s*f(k) = +n+g) k
which can be rewritten as:
s/ (+n+g) = k / f(k)
Since f(k) = k1/3, this can be rewritten as:
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this can be simplified by taking each side to the 3/2 power
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With this value for k*, we can find y* = (k*)1/3 = 1.41, and c* = y* - s y* = 1.06.
To find the Golden Rule level of capital accumulation, recall that at the GR, 
MPK =(+n+g).
Since Y = K1/3(LE)2/3 then
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Since, at the Golden Rule, the above calculated MPK must equal (+n+g),
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Since k** = 4.35,
y** = k1/3 = 1.63
c** = y** - .125k** = 1.088
s** = 1 – (c**/y**) = .333
The graph depicting this would be:
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